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Question 1
Question Type: MultipleChoice

Cloud balancing cannot be achieved by redundantly deploying IT resources in advance. Redundant instances of IT resources must be

dynamically generated on-demand, at runtime.

Select the correct answer.

Options: 
A- True

B- False

Answer: 
B

Question 2
Question Type: MultipleChoice



Which of the following mechanisms are combined in a cloud balancing architecture?

SELECT ALL THAT APPLY

Options: 
A- automated scaling listener

B- failover system

C- multi-device broker

D- pay-for-use monitor

Answer: 
A, B

Question 3
Question Type: MultipleChoice

In a cloud balancing environment, routing criteria can be based on which of the following factors?



Select the correct answer.

Options: 
A- load balancing of cloud-based IT resources

B- on-premise service usage

C- cloud bursting thresholds

D- None of the above. Cloud bursting does not utilize routing logic.

Answer: 
A

Question 4
Question Type: MultipleChoice

Cloud balancing can be used to increase both the availability and scalability of IT resources.

Select the correct answer.



Options: 
A- True

B- False

Answer: 
A

Question 5
Question Type: MultipleChoice

In a cloud bursting environment, cloud-based IT resources typically remain idle until an actual cloud burst occurs.

Select the correct answer.

Options: 
A- True

B- False



Answer: 
A

Question 6
Question Type: MultipleChoice

Which cloud computing mechanism is used to maintain synchronicity between on-premise and cloud-based IT resources?

Select the correct answer.

Options: 
A- automated scaling listener

B- failover system

C- pay-for-use monitor

D- None of the above.

Answer: 
D



Question 7
Question Type: MultipleChoice

Where is the automated scaling listener in a cloud bursting architecture most commonly deployed?

Select the correct answer.

Options: 
A- on-premise with the cloud consumer

B- in the cloud that hosts the cloud-based IT resources being scaled

C- in a separate cloud from the cloud-based IT resources being scaled

D- None of the above.

Answer: 
A
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